

## List of students benefitted by Govt Scholarship/Institutional Scholorship

2019-2020

P.O.Mathil, Payyanur, Kannur Dist-670307, Tel: 04985 281500 Email: gurudevcollege@gmail.com www.gurudevcollege.org

## 2019-2020 RECIPIENT LIST(FRESH)

Sr #	Application Id	Name/Father's Name	Mobil e	Course Name	Name of Scheme				
1	KL2019200 02458828	SOJA ABRAHAM /ABRAHAM	XXX XXX6 870	MASTER OF ARTS(ENGLISH)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS				
2	KL2019200 02764224	AMAL THOMAS /THOMAS V J	XXX XXX9 797	BACHELOR OF SCIENCE(CHEMISTRY)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS				
3	KL2019200 02942378	MUHAMMED HUSSAIN /SAID MUHAMMED	XXX XXX7 510	BACHELOR OF SCIENCE(MATHEMATICS)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS				
4	KL2019200 04640914	SHIBINA JULE /PAUL M S	XXX XXX3 953	BACHELOR OF SCIENCE(MICROBIOLOGY)- 3 YEARS	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS				
5	KL2019200 08813653	THASNEEM K S /SHAJI K M	XXX XXX4 295	BACHELOR OF SCIENCE(COMPUTER APPLICATION)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS				

## 2019-2020 RECIPIENT LIST(RENEWAL)

Sr #	Application Id	Name/Father's Name	Mobil e	Course Name	Name of Scheme
1	KL2017180 03841299	SANDRA MATHEW /MATHEW JOSEPH	XXX XXX2 301	BACHELOR OF SCIENCE(CHEMISTRY)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
2	KL2018190 01974264	RISVANA N P /C AZEEZ	XXX XXX4 616	M.SC (CHEMISTRY)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
3	KL2018190 04760386	ANITTA JAISON /JAISON D VARGHESE	XXX XXX1 326	BACHELOR OF COMMERCE(COMPUTER APPLICATIONS)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
4	KL2018190 05997850	APARNA SIBI /SIBI L C	XXX XXX4 682	BACHELOR OF SCIENCE(MATHEMATICS)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
5	KL2018190 08203015	SNEHA JOY /JOY VARKEY	XXX XXX8 245	BACHELOR OF SCIENCE(MATHEMATICS)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
6	KL2018190 11036207	AFREEDA V M /ABDULLA M	XXX XXX1 149	BACHELOR OF COMMERCE(COMPUTER APPLICATIONS)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS

## GOVERNMENT OF INDIA SCHOLARSHIP FOR SC/ST STUDENTS

	GOI Inside Kerala		ANNEXURE II Order No. C4/4668/19 Dated : 27.07.2019								
SI.		Caste	Income	Name of institution	Course	Tution Fees	Exam Fees	Others	Total	Bank Account Details	IFSC Coo
1	Arjun K M	Pullvan	36000	Gurudev Arts & Science Collge, Mathil	II Year BBA 2019-20	18000	1200	270*10 =2700	21900	42402200068169	SYNB00042
2	Abhinand K V	Vannan	40000	**	II Bcom 2019-20	18000	1200	270*10 =2700	21900	203901111000328	VIJB000203
3	Sourav P P	Vannan	62000	29	II Bcom 2019-20	18000	1200	270*10 =2700	21900	67280976299	SBIN0071168
4	Aswin Anand	Mannan	62000		II Bcom 2019-20	18000	1200	270*10 =2700	21900	67233918814	SBIN0070554
5	Sreerag Lakshmanan A	Pulayan	36000	22:	BBA TTM II Year	21000	1200	270*10 =2700	24900	67281490041	SBIN0070259
	TOTAL					93000	The state of the s	13500	112500		
			(Rup	ees One Lakh T	welve Thousand	Five H	ındred (	Only)			
							- Distri	ct Developm	ent Offic	er for SC.	
						Assista	nt Distri	Kann	ur		

Name of Scheme	Name of Student		
Archbishop Mar Ivanios Educational Scholorship	Haritha V		
Archbishop Mar Ivanios Educational Scholorship	Aswini Nair		
Archbishop Mar Ivanios Educational Scholorship	Laya R Acharya		
Archbishop Mar Ivanios Educational Scholorship	Rigila D K		
Archbishop Mar Ivanios Educational Scholorship	Soorya Mol P		
Archbishop Mar Ivanios Educational Scholorship	Swapna P V		
Archbishop Mar Ivanios Educational Scholorship	Swarna P V		
Archbishop Mar Ivanios Educational Scholorship	Aiswarya S		
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Asin Sunny		
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Mariya Shiju		
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Roshni P Thomas		
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Akash Prince		
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Soja Abraham		